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I. ESSAY QUESTIONS (totally 25 points)
Q1. (5 points) What are the main three activities for the software project management?
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Q2. (5 _points) Specify two differences between Democratic Decentralized and Controlled

Decentralized software team organizations?
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Q3. (5 points) What risk analysis is? Why is it important? What is a contingency plan?
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Q4. (5 points) Specify three main features of Extreme Programming practices W
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Q5. (5 _points) What are six static workflows in Rational Unified Process? Why they are
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11. PROBLEM SOLVING QUESTIONS (75 pts)

Q6. (25 points) Compute the function point value FP for a project with the following

information domain characteristics?

° Number of user inputs: 20

° Number of user outputs: 30

e Number of user inquiries: 15

° Number of files: 5

o Number of external interfaces: 4

2(F)>Assume that all complexity adjustment values are "MODERATE". Explain your

calculations.

HINTS: All ingredients necessary for FP calculation are given below
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2) For both ILF’s and EIF’s the number of record element types and the number of data
elements types are used to determine a ranking of low, average or high. A Record Element

Type is a user recognizable subgroup of data elements within an ILF or EIF. A Data Element



Type (DET) is a unique user recognizable, non-recursive (non-repeating) field on an ILF or
EIF. | ESET i»f ¢ (2 3)
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Q7. (5 points)Calculate the KLOC according to the above computed FP function point (in Q6)
for same project. Assume that C++ is used as a programming language for the project.

HINT: C++ LOC/FP converting factor is 64
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Q8. (45 points) Consider the following set of tasks

Task Duration (days) Dependencies
Tl 5

T2 10 T1 ps4A

T3 10 T1, T2 M.
T4 20

TS 10 T1 A |
T6 15 T2,T4 MY
T7 15 T3 MY
T8 30 7 My
T9 15 T6 Mg

Assume that the project shall start on April 12, 2017

HINT: Calendar is as follows:
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a) (15 points) Draw activity network diagram






b) (15 points) Specify all paths on the activity network diagram, find path lengths, define the

critical path and its length
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¢) (15 points) Assuming four staff members are available, John, Mary, Ekrem, and

Ayshe, draw the schedule diagram, Gantt chart, showing task allocation to the staff
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